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7 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 4.62 57.55 | #nS | 000 ~ 462 1.87 10.01 st 1.00 | 6.00 ~ 5.00 57.56 | #hS | 5,00 ~ 56.00| 1.87 10.01
2 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 000 ~ 573 71.65 | NS | 0oo ~ 573212 11.34 st 1.00 | .00 ~ 830 71.65 | ThS | 6,00 ~ 830|212 11.34
3 100kN/m%E#8z5 | 1.00 | 000 ~ 003 10048 |3mE#Ez3| — ~ — — — | 100kN/ %825 | 1.00 | 11.01 ~ 11.10| 100.48 |3m%E#BZ5 - ~ — — —
s 1.00 | 0.03 ~ 7.82 100.00 | =St | 000 ~ 7.82| 2.35 12.57 st 1.00 | 6.00 ~ 1101 100.00 | =hst | 6.00 ~ 1110] 2.85 12.67
4 100kN/m%x#8z5 | 1.00 | 000 ~ 1.68| 12575 |3mx#Bz3| — ~ — — — | 100kN/m%E#8Z25 | 1.00 | 1060 ~ 1630 125.75 |3m&E#BZ% - ~ — — —
s 1.00 | 1.68 ~ 947 100.00 | =nLst | 0.00 ~ 9.47 | 2.44 13.06 st 1.00 | 6.00 ~ 10.60 100.00 | =nst | 6.00 ~ 1630| 2.44 13.06
5 100kN/mM%{BZ 5 — - ~ — — |3mZE#BZ 3| 0.00 ~ 0.67| 3.60 19.25 | 100kN/m#Z#B 2% — - ~ — — |3mZEBZB| 1500 ~ 2037 5.60 19.25
s 1.00 | 0.00 ~ 766 9813 | #nS | 0.67 ~ 7.66 | 3.00 16.05 st 1.00 | 6.00 ~ 2037 98.13 | =nLS | 5,00 ~ 15.00| 3.00 16.05
P 100kN/ Mm% 2 % — -~ - —|3mz#B2B| 000 ~ 024 324 17.32 | 100kN/m%i#8 2% — - ~ — — |3mx#B2 3| 1500 ~ 1965| 324 17.52
s 1.00 | 0.oo ~ 7.09 90.11 | =S | 024 ~ 7.09 | 3.00 16.05 st 1.00 | 6.00 ~ 19.65 90.11 | =hs\ | 5,00 ~ 15.00| 3.00 16.05
- 100kN/mM%{BZ % — - ~ — — |3mZE#BZ 3| 0.00 ~ 0.67| 3.69 19.20 | 100kN/m#%#B 2% — - ~ — — |3mZEBZB| 1500 ~ 2009 | 5.59 19.20
s 1.00 | 0.00 ~ 766 9818 | =St | 0.67 ~ 7.66 | 3.00 16.05 st 1.00 | 6.00 ~ 20.09 98.18 | =nLS | 5,00 ~ 15.00| 3.00 16.05
P 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 442 556,15 | EnRSY | 000 ~ 4.42| 2.05 11.00 st 1.00 | 6.00 ~ 5.50 55.15 | =nLS | 6.00 ~ 5650 | 2.05 11.00
9 100kN/ Mm% 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 5.85 73.15 | NS | 000 ~ 585 1.83 9.81 st 1.00 | .00 ~ 6.70 73.15 | ThS | 6.00 ~ 6.70 | 1.83 9.81
10 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 455 56.79 | FnRSY | 000 ~ 4.55| 1.90 10.15 st 1.00 | 6.00 ~ 5.00 56.79 | TnLS | 5,00 ~ 56.00| 1.90 10.15
100kN/mM%E#BZ 5 ~ ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhust ~
100kN/mM%E{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ ImERBZD ~
zhst ~ ZFhst ~ Fhst ~ Fhust ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m%#B% % ~ ImERBZD ~
zhLst ~ FhLst ~ FhLst ~ ZFhLst ~
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